SA A
33 &

ool R

H & 0l & AHS B Ml A

A1t
224 o
N4

en)

2l

Cr

SA B SABH) - KIRAY - BLS o ar o) 3 o HIDS
A&t 46,860,757 37,530,189 9,330,568
= 2,100,000 3,100,000 1,000,000
£ 1,528,000 0 1,528,000
T 5,380,726 3,105,665 2,245,061
Ea 37,882,031 31,324,524 6,557,507
Cedag 2 2 10,662,366 8,393,276 2,269,090
= 853,000 0 853,000
s 229,990 329,990 100,000
i 9,579,376 8,063,286 1,516,090
FAE 2] 4,311,536 4,278,536 33,000
= 33,000 0 33,000
= 0 120,000 120,000
Ea 4,278,536 4,158,536 120,000
Ce 2A2el 3,131,536 3,098,536 33,000
£ 33,000 0 33,000
o 3,098,536 3,098,536 0
405 AtaHE = 103,000 70,000 33,000
= 33,000 0 33,000
o 70,000 70,000 0
01 Tt ESF=HI 103,000 70,000 33,000
o1EE= MEFH 33,000 0 33,000
-1EES NEZ 33,000,000 33,000 0 33,000
s 33,000 0 33,000
wg A2+ 1,180,000 1,180,000 0
& 0 120,000 120,000
s 1,180,000 1,060,000 120,000
401 AIZHIZL SO 1,180,000 1,180,000 0
= 0 120,000 120,000
= 1,180,000 1,060,000 120,000
01 Al&H| 1,180,000 1,180,000 0
CNYHUIME
& 400,000,000 400,000 400,000 0
=S 0 120,000 120,000
s 400,000 280,000 120,000
2otz 2o 5,306,090 3,410,000 1,896,090
= 500,000 0 500,000
= 4,806,090 3,410,000 1,396,090
T EHIAY 746,090 700,000 46,090
201 Zet=d] 3,510 0 3,510
01 AlR2teldl 3,510 0 3,510
oZAE AR FA SAH|
9,000 %3 »130! 3,510 3,510
202 048l 2,580 0 2,580
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A AL
M T2HL 9 2
CHel: BtEZ 2o EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
01 =LHoi 2,580 0 2,580
o2 A4 PR =
20,0002 x3& »43 2,580 0 2,580
401 AlEHIYL S THYI 740,000 700,000 40,000
01 Al&HI 740,000 700,000 40,000
ozatH ATHAI &+ M WXZ EXIALY
40,000,000& 40,000 0 40,000
sHEZZ HHIAIY 3,260,000 1,410,000 1,850,000
401 Al&BIL S THYI 3,260,000 1,410,000 1,850,000
01 AlEZHI 3,250,000 1,400,000 1,850,000
oEH [HA0S MYUZ I ZAL
400,000,000 400,000 0 400,000
oHHE otEze| HA0E sHELZ =X
FSA & 1,000,000,000& 1,000,000 200,000 800,000
o NE X2l &4R0Is dYz SEET
Al 350,000,000 350,000 0 350,000
oN&H UH~HA 2 &2 SEIZAL
300,000,000 300,000 0 300,000
OLZCH &EHE AYZ2 FHI 1,300,000 1,300,000 0
= 500,000 0 500,000
= 800,000 1,300,000 500,000
401 AlEHIYL S THYI 1,300,000 1,300,000 0
£ 500,000 0 500,000
= 800,000 1,300,000 500,000
01 AlZHI 1,300,000 1,300,000 0
o0t ASHIE XUZ ZHISA
Z& 1,300,000,000& 1,300,000 1,300,000 0
£ 500,000 0 500,000
= 800,000 1,300,000 500,000
LIEE2HHE 753,300 433,300 320,000
= 320,000 0 320,000
< 209,990 209,990 0
= 223,310 223,310 0
Ol==0 ES7S FHIAL 50,000 0 50,000
s 50,000 0 50,000
401 AlZBIL STy 50,000 0 50,000
£ 50,000 0 50,000
01 Al&HI 50,000 0 50,000
oS8 B579 A
50,000,000 50,000 0 50,000
= 50,000 0 50,000
Oelol B9 NSse &y 270,000 0 270,000
= 270,000 0 270,000
401 Al&BIL S CHYI 270,000 0 270,000
= 270,000 0 270,000
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SA: AL
A C2H4 Y 2
el AEE2oHA (SH9 H2)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
01 Al&HI 270,000 0 270,000
o025 +Y rMESSE &Y
270,000,000& 270,000 0 270,000
= 270,000 0 270,000
HE HAasZE2e 290,000 270,000 20,000
< 20,000 0 20,000
i 270,000 270,000 0
HASZE A4 2 3 20,000 0 20,000
& 20,000 0 20,000
401 AlZHIL 2] 20,000 0 20,000
< 20,000 0 20,000
01 Al&HI 20,000 0 20,000
cHET AN HASZE HE=SA
20,000,000 20,000 0 20,000
< 20,000 0 20,000
BT A=Y 4,532,5% 2,112,596 2,420,000
< 100,000 0 100,000
i 4,432,5% 2,112,5% 2,320,000
CAD 2 4,379,960 1,959,960 2,420,000
< 100,000 0 100,000
i 4,279,960 1,959,960 2,320,000
SANNHEEZ JHE 4,229,960 1,909,960 2,320,000
401 AIEHIYL 20| 4,229,000 1,909,000 2,320,000
01 Al&ZHI 4,220,000 1,900,000 2,320,000
oTEE A0S ZAAEEZ HWEAY
1,000, 000,000 1,000,000 0 1,000,000
o&dd & 1St S NSE =2
SHIALE 3% 1,000,000,000 1,000,000 500,000 500,000
oFUESAYE =Y TAIHEEZ LAY
&& 500,000,000 500,000 200,000 300,000
oPAA ~ H2XGIAT 2 TAIHEEZ N
A 500,000,000& 500,000 0 500,000
oMM ZE0S ZAINHEEZ HWEZA
SAEH ES 20,000,000 20,000 0 20,000
FHT 2ELY NENE2 HHAY 100,000 0 100,000
< 100,000 0 100,000
401 AlEHIL 20| 100,000 0 100,000
=S 100,000 0 100,000
01 Al&ZHI 100,000 0 100,000
oA EEUYH NEANCZ HEAMY
100,000,000 100,000 0 100,000
= 100,000 0 100,000
wsHY HA 19,018 13,182 5,836
= 5,561 0 5,561
= 13,457 13,182 275
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A AL
g S Ho
Hel: T2NSSIA EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
CRuSEXA 19,018 13,182 5,836
< 5,561 0 5,561
= 13,457 13,182 275
CZ2 USY ZA 29 19,018 13,182 5,836
< 5,561 0 5,561
z 13,457 13,182 275
101 1A 14,769 9,438 5,331
= 5,056 0 5,056
i 9,713 9,438 275
04 I H=22ASES 14,769 9,438 5,331
o428 = ZE 14,494,000 5% 725 450 275
CUSHEXZAL QIAHI(XIEE)
80,2402 x54+1 4,333 4,333
< 4,333 4,333
CWSXZAL QIAH| ORI E)
40,1202~ 18H+1 723 0 723
< 723 0 723
201 B2l 4,249 3,744 505
< 505 0 505
i 3,744 3,744 0
01 AFR2telHl 4,249 3,744 505
oS XTAN QHEEH| P (RLE)
505,000 505 0 505
< 505 0 505
ST 8,116,586 7,560,586 556,000
= 2,100,000 3,100,000 1,000,000
£ 175,000 0 175,000
= 3,170,475 2,625,675 544,800
i 2,671,111 1,834,911 836,200
SRl NS 5,136,250 6,086,250 950,000
= 2,000,000 3,000,000 1,000,000
< 2,102,175 2,077,175 25,000
= 1,034,075 1,009,075 25,000
Bi==oH & 2,000,000 3,000,000 1,000,000
= 2,000,000 3,000,000 1,000,000
401 AIEHIYL 20| 2,000,000 3,000,000 1,000,000
= 2,000,000 3,000,000 1,000,000
01 Al&ZHI 1,898,000 2,898,000 1,000,000
oS¢ MEXF Bi=IHE AL
& 1,898,000,000& 1,898,000 2,898,000 1,000,000
= 1,898,000 2,898,000 1,000,000
IS ESIIEH =22 ) 100,000 50,000 50,000
< 50,000 25,000 25,000
= 50,000 25,000 25,000
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A AL
M SYMAD|BHEY]
Celr sHIIgtxd EER=E)
SN - B S2A(BH) - HRAY - BES 0 &y ol B o HIRS
401 Al&BIL S CHYI 100,000 50,000 50,000
< 50,000 25,000 25,000
= 50,000 25,000 25,000
01 AlZHI 100,000 50,000 50,000
odH HHXF JAHSESIE AFAS
50,000,000 50,000 0 50,000
< 25,000 0 25,000
o 25,000 0 25,000
AN 2,980,3% 1,474,336 1,506,000
= 100,000 100,000 0
= 175,000 0 175,000
< 1,088,300 548,500 519,800
= 1,637,036 825,836 811,200
sHIIBEH(ESZRESS) (HEALR) 460,000 170,000 290,000
< 368,000 136,000 232,000
= 92,000 34,000 58,000
401 AlEHIYL L THYI 460,000 170,000 290,000
< 368,000 136,000 232,000
= 92,000 34,000 58,000
01 Al&HI 460,000 170,000 290,000
o3 SAHANT F=2FE=3 At
100,000,000 100,000 100,000
[ 80,000 80,000
= 20,000 20,000
ot AHEAIR S22 E=3 At
100,000,000 100,000 100,000
< 80,000 80,000
= 20,000 20,000
oMa HEXR F+ZFL=sH MY
56,000,000& 56,000 0 56,000
[ 44,800 0 44,800
= 11,200 0 11,200
oEE ANZAF S+ ALSHAE
34,000,000 34,000 0 34,000
< 27,200 0 27,200
= 6,800 0 6,800
IISHE 2400 225,000 125,000 100,000
= 100,000 100,000 0
< 112,500 12,500 100,000
= 12,500 12,500 0
403 AXIEHMSA=01d 100,000 0 100,000
< 100,000 0 100,000
02 S 2SOt et =& P EF A I 100,000 0 100,000
oJtsUE X2 A 100,000,000 100,000 0 100,000
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2A:
X XH -
o e

=aak

el
SO A B Y|
S

M- - SA(3) - MRAY - BES Oi AteH J| ¥ o HnszZ
| [ 100,000 0 100,000
SN INFSE=IN R ] 1,3%.616 419,616 976,000
= 175,000 0 175,000
[ 187,800 0 187,800
= 1,032,816 419,616 613,200
401 AIEHIL 200 1,378,000 402,000 976,000
= 175,000 0 175,000
[ 187,800 0 187,800
= 1,015,200 402,000 613,200
01 Al&H| 1,376,000 400,000 976,000
oM=K HMXICH 22A)
20,000,000 20,000 20,000
[ 6.000 6,000
2 14,000 14,000
oM%K OHEXCHEAH)
20,000,000 20,000 20,000
[ 6,000 6,000
= 14,000 14,000
oS HESAR (28 M)
293,000,0002! 293,000 0 293,000
[ 87,900 87,900
2 205,100 205,100
oM aXl HESAIS (22 H)
293,000,000 293,000 293,000
[ 87,900 87,900
= 205,100 205,100
oA AAHZSHBAIAL DEAI(CHE
IBSESN) 350,000,000 350,000 0 350,000
= 175,000 0 175,000
2 175,000 0 175,000
=2 X5t Ald X2 283,800 143,800 140,000
401 AlEHIZ 200 240,000 100,000 140,000
01 Al&H| 240,000 100,000 140,000
o=E X6t HBEAL U AlS 2| 29
7.000,0002 %2074 140,000 0 140,000
SEX|SANY 9,308,040 5,614,040 3,694,000
[ 1,489,000 0 1,489,000
Z 7,819,040 5,614,040 2,205,000
SENFI|BAM 9,308,040 5,614,040 3,694,000
[ 1,489,000 0 1,489,000
= 7,819,040 5,614,040 2,205,000
ZOIHOIALY 3,119,040 1,814,040 1,305,000
401 AlEHIZ 200 3,105,000 1,800,000 1,305,000
01 Al&H| 3,075,000 1,770,000 1,305,000
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A A4
M SEX o
o sESEF0|xH (SH &)
A - 3 - S2A(FH) - MRAY - BES (1;| Palgely J 3 N Hlns
otgord S UIEEX 243
70,000,000& 70,000 0 70,000
ocHAZ FA2 S == FHl BAt
20,000,000& 20,000 0 20,000
oZAHE EXi2| RS MYEZ MEE
=IN; 100,000,000& 100,000 0 100,000
oHAE HEZ HEOIE =2 Ul SA
20,000,000& 20,000 0 20,000
oMAHE OHHZ| FU0IE =2 EXE A
40,000,000 40,000 0 40,000
oA g Hit2| FE0IS 242 &bl 3
At 70,000,000 70,000 0 70,000
oHAHE FAC UHES ZEISA
75,000,000& 75,000 0 75,000
odd i BADIE 52 &XI3A
30,000,000& 30,000 0 30,000
oS3tH SN2l HS02 =2 Ul SA
40,000,000 40,000 0 40,000
oS3tH =52l SHOI2 =g &d| Al
30,000,000& 30,000 0 30,000
ofMANH Zale| LEIS s2 EHEE A
70,000,000 70,000 0 70,000
oA NEH 22| St 52 Z& SA
40,000,000 40,000 0 40,000
oAAHH A2 OtHIOIE dz & ZAl
50,000,000& 50,000 0 50,000
ofHH =22 =S50S YR A ZA
100,000,000& 100,000 0 100,000
oaAH A2 Hs0S gz THEH 3
At 100,000,000& 100,000 0 100,000
o=EMH T2 FA4A0IE o2 =E At
100,000, 000& 100,000 0 100,000
oEEH 022 AIS0IE 52 B4 SA
20,000,000 20,000 0 20,000
oEEMN 022 0t=201I2 YT SLE
SAL AAIENH 29 20,000,000 20,000 0 20,000
oA&H &8 HEOIE =2 Ul SA
50,000,000& 50,000 0 50,000
oS0|H g4 2S0I2 =2 Z& SA
40,000,000 40,000 0 40,000
o=0|H 42 =302 o2 MIEE SA
30,000,000& 30,000 0 30,000
o=0|H ZE2| ZEHOIES =2 SXE A
50,000,000& 50,000 0 50,000
oS5t 24| A0S nE 2428 2
At 100,000,000& 100,000 0 100,000
oS0otH Alde| Atots0tES otz HHl A
40,000,000 40,000 0 40,000
272 NGRS A 2,500,000 1,800,000 700,000
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A AL
M =E oL
ol SEFEI|UEY (ol @)
SA -3 - A(3) - MISA - B85 Off &K N3 Hws2
401 NEHIL 2| 2,500,000 1,800,000 700,000
01 A&t 2,500,000 1,800,000 700,000
OTHEG S22 OIS BIAR XIBAF
20,000, 0002 20,000 0 20,000
oTMS I3 PUNIS BT U T2 &
TIHBA 20,000, 0002 20,000 0 20,000
CHHES | PAUNES 52 BLTA
8,000,00024 8,000 0 8,000
oNHS el PAUNS 52 ERBA
20,000, 0002 20,000 0 20,000
SXMS OHER| PUDIS ISR HHIBA
20,000, 0002 20,000 0 20,000
oFHS Y&l WEHS o2 HEFTA
20,000,00024 20,000 0 20,000
oXHS YHel LSE0IS NYE MEF
=N 20,000, 0002 20,000 0 20,000
oTAN M2 HENS W A HE
= 15,000, 0002 15,000 0 15,000
TN ME2| ASOIS 22 2 HXZ
At 17,000,00024 17,000 0 17,000
XA AFE| AFOIS 242 FHIBA
30,000, 0002 30,000 0 30,000
STAM MNR| HANIS ICHY M2
At 10,000, 0002 10,000 0 10,000
oXRAM BAZ| HRBOIS Hi42 L 52 §
HIZ A 13,000,00024 3,000 0 13,000
oUB =Xz| DHAOIE S SXIZA
40,000, 0002 40,000 0 40,000
oLp HH2| AHOIS H+2 BH2A)
10,000, 0002 10,000 0 10,000
oD HESXIME =8 HUIBA
15,000, 0002 15,000 0 15,000
CMND BMZ| MEDIS UHAE DHSA
24,000, 0002 24,000 0 24,000
SAN SX2| A0S AR SXIBAF
60,000, 0002 60,000 0 60,000
oMY BHEl HUNS 52 THTA
16,000, 0002 16,000 0 16,000
SHEM M52 AEDS 42 ZUIBA
5,000, 0002 5,000 0 5,000
oHEM 2M2| PUHOIS BH=AL Ha
= 10,000, 0002 10,000 0 10,000
oHEN FW2| LMIIS 52 BLTA
15,000, 0002 15,000 0 15,000
SHEM MR £M0IS WH WEXIBAF
20,000, 0002 20,000 0 20,000
SR 2H22| ZH0IS 21 FHITA
10,000, 0002 10,000 0 10,000
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M A4
M SEXSGHY
o2 sEEFI|exd (SH &)
SA B SA(BH) - KISAY - BAS ofl & o o @S2
oM&H G| 202 =2 ZEIA
10,000,0002 10,000 0 10,000
oN&H F2| HASOIE th+2 dX3
At 12,000,0002 12,000 0 12,000
oNA&DH F2| SL0IS M SASA
30,000,000 30,000 0 30,000
oSaM gialg| HS0I2 g EXISAt
10,000,0002 10,000 0 10,000
o=S2H 4822 2HOIE tis+= HUISA
20,000,000 20,000 0 20,000
oS2MH H4iHe| REHOIS =2 XIS A
10,000,000 10,000 0 10,000
oS2H Hite| REHOIS ot SEEHIA
25,000,000 25,000 0 25,000
o=2MH Q22| WELIE 2 EXISA
15,000,000& 15,000 0 15,000
o50|H Y4l 202 o2 otAZ2 ZE
S A 20,000,000 20,000 0 20,000
o=0|H e SAOIES &2 SEHSA
20,000,000& 20,000 0 20,000
oS0|H Algel EA0IE tH+2 FUISA
20,000,000 20,000 0 20,000
oS0|H AlHEe| AMEOIS =2 SEZEBA
30,000,000& 30,000 0 30,000
o=0|H FHe| 202 a2 EXISAt
20,000,000& 20,000 0 20,000
oSl Alde| HE0IS a2 HUIBAF
20,000,000 20,000 0 20,000
KIS IHLAN (E=XI&) 1,489,000 0 1,489,000
== 1,489,000 0 1,489,000
401 AlEHIL20HY] 1,489,000 0 1,489,000
(o= 1,489,000 0 1,489,000
01 AI&HI 1,489,000 0 1,489,000
oZHE ZJdel LSELES s2EE A
30,000,000& 30,000 0 30,000
(o= 30,000 30,000
oXMAT Ad BHZ HU|IZSA
50,000,000 50,000 50,000
< 50,000 50,000
oXAHZ otEHe| FA0IS 2TIMNY ALY
30,000,000& 30,000 30,000
[ 30,000 30,000
o¥HZ 5 FE0I2 SYHAX SA
50,000,000 50,000 50,000
== 50,000 50,000
oXHE otHe| PA0IS JIEdY EX3
At 30,000,000& 30,000 30,000
== 30,000 30,000
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2A: A&
. sEXEINL
o sESEF0|xH (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b Il & o SimE==t
oXAN N2 DAOIS sZ2ME ZAl
50,000,000 50,000 0 50,000
== 50,000 0 50,000
o' HMe| IUS0t2 22 THEESAL
30,000,000& 30,000 0 30,000
== 30,000 0 30,000
ottt OldEel AE0IS =2 HBIZAl
70,000,000 70,000 0 70,000
== 70,000 0 70,000
o=3stH 232 JIN0S s22H 2 i
2 EXIZ2A 34,000,000& 34,000 0 34,000
(== 34,000 0 34,000
oS3IH 232l JIA0IS o MEES A
30,000,000& 30,000 0 30,000
< 30,000 0 30,000
oS3H =8 2d XA
36,000,000 36,000 0 36,000
< 36,000 0 36,000
oS3IH A2 A0S S2FH| 2A1
25,000,000 25,000 0 25,000
< 25,000 0 25,000
oS5t AR A0S 2EFH U2
At 15,000,000 15,000 0 15,000
= 15,000 0 15,000
oS5IH FEZ| RAOIE HiZ2 & =2 F
HI S At 35,000,000& 35,000 0 35,000
= 35,000 0 35,000
opNEH X2 SR0IS oY SLE DA}
30,000,000& 30,000 0 30,000
== 30,000 0 30,000
ol AH Al (OIS His=2 HHISAL
34,000,000& 34,000 0 34,000
= 34,000 0 34,000
oMNH REHE| g HHISAL
15,000,000 15,000 0 15,000
== 15,000 0 15,000
oMAH 2| T2ES BA
20,000,000 20,000 0 20,000
== 20,000 0 20,000
oftHH MEPD| MEQIS XYZ SEIEZ
Ak ,000,000& 40,000 0 40,000
== 40,000 0 40,000
oAAH A2l OtHIOIE Az THEEZ
At 50,000,000 50,000 0 50,000
== 50,000 0 50,000
oM HH ALEE AMAQIES A= AXISA
30,000,000 30,000 0 30,000




A Rar=m;
¥ sEXNDNLY
&2l sEFFI|ERY (SH &)
SA B SA(BH) - KISAY - BAS ofl & o o @S2
[ 30,000 30,000
oMAH ADI2] REOIS H+2 AXISA
30,000,0002 30,000 30,000
[ 30,000 30,000
oMY Gat2| 0|02 Jt=d Y EX3
At 20,000,000& 20,000 20,000
& 20,000 20,000
oEHEH =52 ASS0IE =2 B3
At 40,000,000& 40,000 40,000
< 40,000 40,000
oEEH FE3Z W02 sl2=H HUlS
At 5,000,000& 5,000 5,000
< 5,000 5,000
oM&H FHéte] ADIOIE B2 HUISA
25,000,000& 25,000 25,000
o= 25,000 25,000
oNA&H SEel AEOIES o2 MEEIA
50,000,000& 50,000 50,000
< 50,000 50,000
oN&H 22| =02 == EUISA
30,000,000& 30,000 30,000
< 30,000 30,000
oN&H igel 9EiE2 Mgz EUISA
30,000,000& 30,000 30,000
< 30,000 30,000
oNA&H F2| SL0IS OISt B3
At 30,000,000& 30,000 30,000
< 30,000 30,000
o=dH Hitg] 2ol0tE XLz HUISA
40,000,000& 40,000 40,000
[ 40,000 40,000
o=SUH NEFH FRIHOAIE EXISA
50,000,000& 50,000 50,000
< 50,000 50,000
oS0|H | telflE 842 WESA
35,000,000& 35,000 35,000
[ 35,000 35,000
o=0IH 42| 202 SZEHEYSA
50,000,000& 50,000 50,000
[ 50,000 50,000
oS0l AtHEl AtE OIS SEHEXISA
10,000,000& 10,000 10,000
[ 10,000 10,000
o=0|H 2de| G002 sSZTEESA
35,000,0002 35,000 35,000
[ 35,000 35,000
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SA AL
M sEXGNY
el sSEFEFIIEEY EER=E)
A - F3 - SA(3H) - HRANY - BES Off &K & A HusZ
oS08 2L SHOIES SZEESA
30,000,000 30,000 30,000
< 30,000 30,000
o=5tH Edel AS0S 2t THEEIAL
50,000,000 50,000 50,000
< 50,000 50,000
o=0tH dlde| 2HEINY At
30,000,000 30,000 30,000
< 30,000 30,000
oS5l 252l EF0IS =2 SHIA
45,000,000 45,000 45,000
< 45,000 45,000
o=0lH 252 0SS S2EEIA
50,000,000& 50,000 50,000
< 50,000 50,000
o=otH Hel HS0t2 HEESA
50,000,000& 50,000 0 50,000
[ 50,000 0 50,000
oS0otH de| A0S ot L IAL
20,000,000& 20,000 0 20,000
[ 20,000 0 20,000
HEEEZ ng NE=s 200,000 0 200,000
401 Al HIYL S CHYI 200,000 0 200,000
01 Al&HI 200,000 0 200,000
CHIHAEZZ W2 AMEHEAI Y HNEA &
3 200,000,000 200,000 0 200,000
FoIEaE 35,140 30, 140 5,000
2250 a7t 35,140 30, 140 5,000
=R MHat2e 35,140 30,140 5,000
201 er=2 3| 30,820 25,820 5,000
01 AtR2t2l] 30,820 25,820 5,000
oL ZAEE & 10,000,000 10,000 5,000 5,000
ot& EH 13,844,631 13,576,931 267,700
s 500,000 0 500,000
(= 199,700 0 199,700
s 13,144,931 13,576,931 A432,000
Zgd stz X2el 13,844,631 13,576,931 267,700
£ 500,000 0 500,000
< 199,700 0 199,700
= 13,144,931 13,576,931 432,000
Notd SX2el At 282,700 115,000 167,700
(= 199,700 0 199,700
= 83,000 115,000 A32,000
401 Al&BIL S CHYI 282,700 115,000 167,700
< 199,700 0 199,700
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A ALY
I S E|
s 2 stE =Xl EER=E)
SA -3 SRA(SAH) - NIRALY - Off &K & A HusZ
= 83,000 115,000 232,000
01 Al&HI 282,700 115,000 167,700
oXgotd sXl2el AFE(E2SHA & EX
£ F4 8) 23 116,700,000& 116,700 55,000 61,700
< 116,700 0 116,700
= 0 55,000 55,000
ootEAIE JIsE+
& 166,000,000& 166,000 55,000 111,000
< 83,000 0 83,000
= 83,000 55,000 28,000
oZSAEE &HE Hide £
348 o2 0 5,000 25,000
AUR D22 ZEAY 1,800,000 1,800,000 0
£ 500,000 0 500,000
= 1,300,000 1,800,000 500,000
401 AlEBIL S THYI 1,800,000 1,800,000 0
s 500,000 0 500,000
= 1,300,000 1,800,000 A500,000
01 AlZHI 1,800,000 1,800,000 0
oAlIR 2= ZHMY
& 1,800,000,000& 1,800,000 1,800,000 0
= 500,000 0 500,000
i 1,300,000 1,800,000 500,000
A0t HHIAF (M EHALY) 11,625,000 11,625,000 0
401 A& BIL S THYI 11,625,000 11,625,000 0
01 AlEZHI 10,700,000 10,700,000 0
o HH HRSAote HHIAMY
& 2,700,000,000& 2,700,000 2,100,000 600,000
oMY TEAGHE FHIAY
&3 2,850,000,000& 2,850,000 2,250,000 600,000
oA ZEAGHE FHIAY
38 02 0 1,200,000 1,200,000
20t [ el At 125,000 25,000 100,000
401 AlEBIL S THYI 100,000 0 100,000
01 Al£ZHI 100,000 0 100,000
20td RAlZe & SSSFAY
100,000,000 100,000 0 100,000
Y 2AAH (AL D) 268,305 229,438 38,867
[ 156,000 150,000 6,000
= 112,305 79,438 32,867
el 2| 244,557 205,690 38,867
< 156,000 150,000 6,000
= 88,557 55,690 32,867
P8 o1AH| 188,867 150,000 38,867
< 156,000 150,000 6,000

- 287 -




2147
SHSHAY| (AL
szt (249119
SN - B G(EH) - NRAY - BES 0 & o[- HimE==T
2 3,867 0 3,867
101 163,613 127,033 3,580
= 156,000 27,033 28,967
2 7,613 0 7,613
03 E T EES =R 163,613 127,033 3,580
o 2 2,070,002 x32i* 122 74,520 67,572 6,948
= 74,520 67,572 6,948
o 2 30,0002 *32i* 122 10,800 5,760 5,040
= 10,800 5,760 5,040
-
A 1,242,000 3 2% 7,45 6,697 755
= 7,45 6,697 755
oDIEHS styl, o2 S)
AT 150,000 43+ 122 5,400 3,600 1,800
= 5,400 3,600 1,800
ou A% 2,070,000 3 42 24,840 22,504 2,316
= 24,840 22,504 2,316
o Al2
18,2602 3% +20A| 2h 1500+ 122 19,721 0 19,721
= 12,108 0 12,108
2 7,613 0 7,613
304 25,254 22,967 2,287
= 0 22,967 ~22,967
2 25,254 0 25,254
o4 221 PERLY3 S 25,254 22,967 2,287
2 138,000,002 4. 5% 6,210 5,648 562
= 0 5,648 75,648
2 6,210 0 6,210
o=
2 138,000,002 4. 2% 5,7% 5,271 505
= 0 5,271 ~5,271
2 5,79 0 5,79
Sink=: 2 138,000,002 4. 8% 6,624 6,004 600
= 0 6,024 6,004
2 6,624 0 6,624
oA 2 138,000,002 4. 8% 6,624 6,024 600
= 0 6,024 76,024
2 6,624 0 6,624
2s(A 74,075 0 74,075
N 74,075 0 74,075
BN 74,075 0 74,075
82 74,075 0 74,075
@ A EEETTEE 74,075 0 74,075
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SN ALD
I YRES(ALD)
Sl 2HAE EERE)
SA - B SA(B) - MRAY - BES (TPNET /iE- ClImE=T]
20U XYE WEHEA 75,0002 75 0 75
o023 AZOLM W AI(OHE A 22 0F)
66,344,002 66,344 0 66,344
o2023E 0{2I0] - =0 B5 Y M AL
7,655, 14021 7,656 0 7,656
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